Hogz~ 84 L 52T TR EE - £ 5%)

fpoc s ATl 1R P RE A(Eg
Y oige e - o0 ke B~£#ﬁ~gg$> LA
AP 180 A4 R4 100 2

Bomp ERAW(FL2A £ 60A)

1. One of the common characteristics of all organizations 1is , which
clarifies members’ work relationships.
A) its people
B) its goals
C) its deliberate structure
D) its purpose

2. Managers with good are able to communicate, motivate and lead to get
the best out of their people.
A) human skills
B) conceptual skills
C) technical skills
D) visual skills

3. The distinction between a managerial position and a nonmanagerial position is

A) planning the work of others

B) coordinating the work of others
C) controlling the work of others
D) organizing the work of others

4. When managers circumvent the rational decision-making model and find ways to
satisfice, they are following the concept of
A) jurisprudence
B) bounded rationality
C) least-squared exemptions
D) self-motivated decisions

5. When problems are , managers must rely on in order to develop
unique solutions.
A) structured; nonprogrammed decision making
B) structured; pure intuition
C) unstructured; nonprogrammed decision making
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10.

D) unstructured; programmed decision making

When decision makers seek out information that reaffirms their past choices
and discount information that contradicts past judgments, they are exhibiting

A) availability bias
B) the anchoring effect
C) self-serving bias
D) confirmation bias

What are the three main types of corporate strategies?
A) concentration, integration, and diversification

B) growth, stability, and renewal

C) retrenchment, turnaround, and clicks-and-bricks

D) cost leadership, differentiation, and focus

In the BCG matrix, a business unit that exists in a high anticipated growth
rate and a low market share is known as a

A) cash cow

B) star

C) dog

D) question mark

Differentiation as a strategy requires a firm to

A) aggressively search out efficiencies to maintain the lowest cost structure
B) be unique in its product offering

C) aim at a cost advantage in a niche market

D) aim to be similar to its competition in all operations

The line of authority that extends from the upper levels of management to the
lowest levels of the organization is

A) authorized line of responsibility

B) unity of command

C) responsibility factor

D) chain of command

RN




Hogz~ 84 L 52T TR EE - £ 5%)

fpoc s ATl 1R P RE A(Eg
Y oige e - o0 ke B~£%?g$> LA
AP 180 A4 R4 100 2

11. When managers standardize employee behavior through rules and procedures, the
jobs are becoming more
A) diversified
B) formalized
C) vertical
D) horizontal

12. When an organization assigns specialists to groups according to the projects
they are working on, this is called a
A) divisional structure
B) functional structure
C) product structure
D) matrix structure

13. A organization consists of a small core of full-time employees and
temporarily hires outside specialists to work on emergent opportunities.
A) network
B) virtual
C) modular
D) learning

14. An assessment that defines the jobs and behaviors necessary to perform the job
1s known as a
A) job description
B) job specification
C) goal-oriented job definition
D) job analysis

15. As a source of potential job candidates, generates the best referrals,
because a good referral reflects on the source of the recommendation.
A) the company Web site
B) the Internet
C) employee referrals
D) professional recruiting organizations
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16. Which of the following decruitment methods is accomplished by not filling
openings created by normal retirements?
A) firing
B) layoffs
C) attrition
D) reduced workweeks

17.1f a training event includes learning to be a better listener or learning to
interact effectively with team members and customers, it is attempting to teach

A) technical skills

B) interpersonal skills
C) problem-solving skills
D) observational skills

18. Which of the following is an example of group member resources?
A) expected behaviors imposed from the central office
B) group member personalities
C) the group leadership
D) the group size

19. Prestige grading, position, or rank within a group is
A) management
B) status
C) leadership
D) membership

20. Large groups consistently get better results than smaller ones, when the group
1s involved in .
A) a fast and appropriate decision
B) free rider tendency
C) problem solving
D) goal clarity
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21.Which of the following is not an advantage of group decision making over
individual decision making?
A) Groups provide more complete information.
B) Groups generate more diverse alternatives.
C) There is less acceptance of a solution.
D) There is increased legitimacy of the decision

22.Which of the following is not mentioned as a conflict-management option?
A) avoidance
B) contradiction
C) accommodation
D) compromise

23.Which of the following describes the leadership style in which a leader tends
to centralize authority, dictate work methods, make unilateral decisions, and
limit employee participation?
A) cultural style
B) autocratic style
C) democratic style
D) laissez-faire style

24. According to path-goal theory, a leader who is friendly and shows concern for
the needs of subordinates is termed
A) directive
B) achievement oriented
C) participative
D) supportive

25. The theory is a contingency theory that focuses on followers’
readiness.
A) consideration leadership
B) situational leadership
C) passive leadership
D) active leadership
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26. According to Herzberg, in order to provide employees with job satisfaction,
managers should concentrate on
A) hygiene factors
B) issues such as pay
C) motivator factors (moderate)
D) extrinsic factors

27.An individual who would enjoy taking on the challenge of personally redesigning
the work flow of a manufacturing line to improve employee productivity would
probably be rated high on which of the following?
A) need for affiliation
B) need for impact
C) need for achievement
D) need for power

28. The concept that behavior is a function of consequences is known as
A) reinforcement theory
B) leadership
C) group dynamics
D) human resource management

29. People will do better when they get because it helps identify
discrepancies between what they have done and what they want to do.
A) input
B) goals
C) equity

D) feedback

30. Which of the following most accurately reflects the difference between strong
cultures and weak cultures?
A)Strong cultures tend to encourage employee innovation, while weak cultures
do not.
B)Weak cultures are found in most organizations, whereas strong cultures are
relatively rare.
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C)Strong cultures have less of an influence on employee behavior than do weak

cul tures.
D)Company values are more deeply held and widely shared in strong cul tures than

in weak cultures.
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